Table of Laplace Transforms

Ft)=L£7HF(s)} (1)

L1. f(t) F(s) = /000 e Stf(t)dt
L2, 1 H(t), U(#) é

L3, Ut - a) e;

LA. " (n=1,2,3,...) 87%

L5. t° (a>—1) F(;IID

L6. e . i -

L. sin(wt) 5 j:w2

L8. cos(wt) R

L9. £t sF(s) = f(0)
L10. () s?F(s) — sf(0) — f'(0)
L11. tft) (n=1,2,3,...) (=1)"F)(s)
L12. e f(t) F(s—a)

L13. e LTH{F (s +a)} F(s)

L14. f(t+P) = f(t) w
L15. FOUE —a) e “L{f(t+a)}
L16. f(t—a)U(t —a) eI F (s)

L17. Ot f(2)dz Fi‘s)

L18. /Ot f(2)g(t — 2)dz F(s)G(s)
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Table of Laplace Transforms

ft)=L£7HF(s)} (1)

t oo
L19. Q / F(z)dz
1 1
L.20. = (e —1)
a s(s—a)
n at _ n!
L21. t"e", n=1,2,3,... (S*Q)nJrl
et _ ebt 1
L22.
a—b (s —a)(s—b)
at __ p,bt
1.23. ae be .
a—b (s —a)(s—b)
. w
1.24. sinh(wt) 52 _ o2
L25. cosh(wt) 52 - w2
2 3
1.26. sin(wt) — wt cos(wt) 7(32 _:)wg)z
) 2ws
L27. tsin(wt) (Z+2)
2 2
L28. sin(wt) 4+ wt cos(wt) ﬁ
199 bsin(at) — asin(bt) 1
: ab(b? — a?) (s? + a?)(s* + b?)
1.30. M s
b2 —a (s? +a?)(s? + b?)
. o 2
L3l asm(atg) bgsm(bt) _ 25 —
a?—>b (s* +a?)(s* + %)
—bt . w
L32. e " sin(wt) (5+b)2 +w?
iy s+b
L33. e " cos(wt) G102 ta?
2
w
L34. 1 — cos(wt) 5(s2 + &2)
. w3
L35. wt — sin(wt) 52(s% + w?)
L36. ot —a) e a>0, s>0
L37. o(t—a)f(t) fla)e™¢ a>0, s>0
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